log (L*)
log(L*) L*

IECSRGBJND lightness

IECSRGBJND lightness for all colours L*\y
17,2
L*|IecsraBIND = 450, ¥/Yn)

L* =449 Y,=18

=100:
(Y,=100Y > 1/255,

application
range

IECSRGBJND-
log(AY) AY tristimulus value difference

)
L*|ecsraBIND = 450 {/Yy)

IECSRGBJND-tristimulus value difference
log(dY) = log( 7,2 ¥/100) ) + (1~(1/7,2)) log(/Yy)
= log(7,2¢,~"*3/100) + (1—(1/7,’2;)109()
:_ Y,=18, dY,=0,28 dY,/Y,=0,0158 ¢

log AY/Y)
log(Cy) C=(AaYlY)

IECSRGBJND-

tristimulus value sensitivity
17,2

L*|lecsraBIND = 450 {/Yy)
IECSRGBJND-tristimulus value sensitivity
log[(dY/Y = log(7,2t/n""3/100) - (1/7,2) log()

application

range
log(dY/Y)=-1,79 m,~>G14 _
Y,=18, dY,=0,28 dY,/Y,; 00158

log (Y/AY)
log(S;) S=(Y/AY)

L*|lecsraBIND = 450 {/Yy)
IECsRGBJND-tristimulus value contrast

log(Y/dY)= log[(1/7,2) (100¥,)] + (1/7.2) log¥//Yy)

= log[(1/7,2) 100X, 2""3] + (1/7,2) logt)

IECSRGBJIND-
tristimulus value contrast

17,2

L* :449 Y,=18, dY,=0,28 Y,/dY =62

application
1 range

1Y,=18

log (LH/L* )
7L

relative IECSRGBJIND lightness

relative normalized IECSRGBJND data
IECSRGBJND lightness for aII colours L*,=100:
L* |ecsreBIND = 450 (Y/Yn) (Yn 100, Y > 1/255)

L* =449 Y,=18
Tiogl(L") 1> Y10, my=0713 = application
range

Yy=4 0 1Y,=18000
1

log(AY/AY,)
AYIAY,

relative IECSRGBJIND-
tristimulus value difference

17,2
L*lecsraBIND = 450 {/Yy)

relative IECSRGBJIND-tristimulus value difference
log(dY) = log( 7,2 ¥/100) ) + (1-(1/7,2)) log(/Yy,)
= log(7, 2t/ ""3/100) + (1-(1/7,2)) log()

o
*
:_ Y,=18, dY,=0,28 dY,/Y,=0,0158 ¢

Jol
o V\=4
1

100

log [(AY/Y) I AY /Y] relative IECSRGBJIND-
C/Cry =(BYIV)I(BYIY,) tistimulus value sensitivity

17,2
L*|ecsreBIND = 450 {Y/Yy)
relative IECSRGBJND-tristimulus value sensitivity

log(@Y/M/(dY,/Yy)] = log(YrYy) ™"

Y,=18, dY,=0,28 dYulYu—0,0158 .

Va4l =180
1

log [(Y/AY) I (Y,/AY,)] relative IECSRGBIND-
log(S,) S,/S,U=(Y/AY)/(Yu/AYu)[iSﬁmums value contrast

17,2
L*|ecsreBIND = 572 Y/Yy)

relative IECSRGBJIND-tristimulus value contrast
10g[(Y/AY)/(Y/AY,)] = log(Y/Y,)Y 72
* =449 Y,=18, dY,=0,28

L* =449 Y,=18, dY,=0,28 Y,/dY =62

application
range

1y,=18




